IOTI'O3AITIAZJEH YHUBEPCHUTET ,,CB. HEO®UT PHJICKHU* BJIAT'OEBI'PAJI

XXVII PEITYBJIMKAHCKA CTYAEHTCKA OJIUMIINAJIA ITO
ITPOI'PAMUPAHE, 8-10 maii, 2015 r.

3apaua K. OBIIE

B enno cramo umano N oBre. Exna Tpera oT TSX 0OarHWIM 1O JBE arHeTa, MoJoBHHATA — MO €IHO arxHe,
a ocTaHanuTe oBle Ounu sutoBu. OBUapAT pojai 3a ['eprroBAeH MOJIOBUHATA OT arHeTara, a Apyrara
MOJIOBMHA OCTaBUJI B CTAJ0TO — aKO OpOST Ha arHeTeTa Cce OKaKesl HEYETHO YHCIIO, OBYAPST KaHEI
MPUATETN U U3SKISUIM €THO arHe Ha Mpa3HHKa, 3a J1a MOXKE Jla c€ MOJIydyaT JBE PaBHU IMOJIOBUHH.
Harmmmmere mporpama 1a onpeneny KOJKO OBIE M arHeTa ca OCTaHAJIA B CTaioTo ciex [ 'eprboBuen?

Bxona: IIporpamara TpsiOBa 1a Moxke 1a 00paboTBa MPHU €HO M3MBIHEHUE HIKOJIKO TECTOBH IIPUMEpa.
bposar T Ha TecToBeTe 1ie ObJe 3aJa/JeH HAa IbPBUS pell Ha CTAHJAAPTHHUSA BXOJA. 3a BCEKU TECTOB
IIpUMEp Ha OTAEJIEH Pl € 3a/1aJIeHO LsAI0TO nojaoxuTenHo N, koero ce fenu Ha 3 6e3 0CTaThK.

M3xox: 3a Bceku TeCTOB IpUMEp IporpaMara TpsOBa Ja M3BEAE Ha OTJENIEH pel Ha CTaHAapTHHA
U3X0/1 Oposi Ha OBILIETE U arHeTaTa B CTa0To cien [ 'eprboBeH.

Orpanuyenne: 5 <N < 1000.

ITpumep:
Bxox H3xon
2 95
60 237
150

Oosicnenune: BbB BTOpus TectoB npumep 150/3 = 50 oBue ca umanu no 2 aruera u 150/2 =75 — no
eHO arHe, obmo 50*2 + 75 = 175 arnera. OT TAX €AHO OWJIO U3AJCHO OT OBYAPS U MPHUATEIUTE MY,
174/2 = 87 ca nponanenwu, a 87 ocraBar B CTaioTo. 3HauH ciies [ erboB/ieH B cTagoTo uma 150 + 87 =
237 oBue U arHera.
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Task K. SHEEPS

A herd consists of N sheeps. One third of them born two lambs each, a half - one lamb each, and others
were barren. The shepherd sold a half of lambs for St. George day and a half left in the herd. If the new
borne lambs was odd number, the shepherd invited friends and they ate one lamb for the holyday. How
many sheeps and lambs were in the herd after St. George day?

Input: The program must be able to process several test cases in one run. On the first line of the
standard input the number T of the test cases will be given. For each test case, on a separate line, the
number N of sheeps in the herd will be given, where N is divisible by three.

Output: For each test on a separate line of the standard output the program has to print the number
of sheeps and lambs in the herd after St. George day.

Restrictions: 5 < N < 1000.

Example:
Input Output
2 95
60 237
150

Explanation: In the second test case of the example ach of 150/3 = 50 sheeps born 2 lambs and each
of 150/2 = 75 — one lamb, a total of 50 * 2 + 75 = 175 lambs was born. One of them was eaten, 174/2 =
87 was sold, and the other 87 remain in the herd. So, after St. George day the herd consists of 150 + 87
= 237 sheeps and lambs.



